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Topic:- Child Development & Pedagogy (CDP)

1) According to the theory of cognitive development, the concrete operational
stage starts at age . | FAETeAS FEw & RAeuid & IHqER, 7 iFacas
IraEqT 37 # O g

1.5
2.1
3.3
4.7

Correct Answer :-

. 7/

2) Which is vast in scope? /| &1 # & Fia-a1 14 &7 A AUH §?
1. Teaching Strategy / Tr&7o1 oIt

2. Teaching Tactic / &7oT gfeh

3. Teaching Technique / TRU&T0T ddedid

4. Teaching Method / 170t fafer

Correct Answer :-

. Teaching Strategy / fr&tor IurEiifar

3) IEP is the major form of instruction. / 3T$S4} 31?3'?]’ ®T 97T T gl
1. peer-tutoring / TEhaT TA&TH

2. Individualized / daThped

3. Identification / UgdTlel


Lenovo
Stamp

Lenovo
Stamp


4. Assessment / Tcheldd

Correct Answer :-

« Individualized / 3T

4) What is the term used to denote the rules involved in putting a sentence together? / Jqr&g HY
TF WY @ A wiEAfad AgAr # Al F@ F o e g w1 saahr R s
&

1. Telegraph | <AUTH

2. Morpheme / ®UH

3. Syntax / dTFg - fa=arg

4. Nested structure / A¥C3 TITAT

Correct Answer :-

. Syntax / dTFT - TA=TTH

5) X-ray radiation is attributed as the main cause of disorder. / Tag-Y fafeor i
AR & 77 FRT & w7 F AR s Srar 2|

1. Mongolism / Al forsH

2. Cretinism / SlaTae

3. Hydroephalus / STerefg

4, Microcephaly / Fl'g?ﬁ'@?ﬂ

Correct Answer :-

+ Microcephaly / ?—l’g?ﬁ'ﬁ?ﬂ

6) Motivation is a state. / U0 TSH Rufa g1
1. Psychological / Fld<TIh

2. Physical / #ifd®

3. Natural/ UTpfdep
4. Broken / @fsd



Correct Answer :-

« Psychological / A<D

7) Causes for learning disability is: / 3839 3F&THAT FT FROT gl e
1. Premature birth / AT H qd e

2. Malaria / FRAT

3. Class room environment / <h&IT &Pl Hl'e’?fﬁ

4. Developmental problems / fasa ddt YR

Correct Answer :-

« Developmental problems / fd®rT Faeh Ty

8) Which of the following is not a characteristic of authoritarian parenting? / frafaf@a &
¥ Fla-a1 FRTEFa) graa-dwor Hr fLvar a8 82

1. Highly punitive / 3cdi¥dh &3Tcdd
2. Rigid / ®aX
3. Demanding of obedience -/ 3TSITIR T ‘hr T

4. Provision of explanations for punishments / HoIl & [ol¥ TUBIAIOT bl YTdUTA

Correct Answer :-

« Provision of explanations for punishments / TSIl & foIlT TAEIAIOT HI YraUTA

9) Which of the following is not a type of long-term memory? / T 7 @ Fla-d = R
#r drd-wifas Tfa & 82

1. Procedural memory / UfehaTca® 1-?‘[%
2. Episodic memory / Ui T3Teh Efd

3. Semantic memory / 31T Fo‘{%

4. Echoic memory / Ufaeafad Hfa

Correct Answer :-

« Echoic memory / Ufdtafad &ffd



10) Which of the following is not a substage of Piaget’s sensorimotor stage? / T & &
FI-9T IS & sfegaafad HF 3aeyT ' 3UNTEAT 74T &2

1. Secondary circular reaction / Ji0T g 3-]73’1%%75”
2. Reflex activity / Hgol AT

3. Primary circular reaction / UTUfA® GRIR) Haﬁ"TCIT
4. Seriation / ShHAIGT

Correct Answer :-
e Seriation / shHTGAl

11) Identify the qualitative change in child development from the following list. / fFafaf@a '\‘Eﬁ qa
o e & qoncAs aRade #r ggEE

1. Weight / avid
2. Sight/ ¥
3. Hair / dTel

4, Teeth / &id

Correct Answer :-

+ Sight/ Tf®

12) An aptitude test measures a child’s ./ TF JIAT q{&T0T TH qTT F Y AT B
1. Knowledge gained over the years / t[)\' ay 3 gt A

2. Skills needed to solve problems / AT Bl T B b [T TTTH HIRmA

3. Skills of critical thinking / 3Tl dTcH® T &I GORIC]

4. Innate ability to do certain tasks / P& HIAT DI P P &THAAT

Correct Answer :-
* Innate ability to do certain tasks / P& HIAT DI B P &THAAT

13) An effective way to combat stress in learners is by: / et & e @ Auead w1 v g
ader § :



1. establishing routine / T Tafid &
2. postponing all large tests for end of the year. / T g3 UI&T0T Hr a0 & 3T & forw TARNT AT
3. making strict rules / T&d AT TaTAT

4. giving them the freedom to work whenever they want. / 3e¢ STd dTe dIH Had I JTSIET &l

Correct Answer :-

« establishing routine / feaToraT TATAT T

14) Which experiment had shown that phobia could be created by classical conditioning? / fh& waleT &
gar Ia1 § foF Feflea SRl garr wifer der fFFar s w@ar 82

1. Dynamical systems / 3Tfaiefrer goTrelt

2. Egocentrism/ 3Tgdhgalg (SMATegad)

3. Little Albert/ fafed 3reac

4. Epistemology/ ST AT (TRAHCHTITST)

Correct Answer :-

o Little Albert/ fofesr 3Teae

15) The child is able to lift its head first before it is able to erawl. This/is because of the operation of: /
gHIE & T ¥ Ygol dodT HYAT (AT 381 A H&THA gial g1 QAT (o<l & @dTled & HRUT gl ¢:

1. Differentiation principle / HgHTa g

2. Integration principle / ThIehoT TAgicd

3. Cephalocaudal principle / @hallhsd g

4. Proximodistal principle / UTFEAISEed [Agid

Correct Answer :-

« Cephalocaudal principle / Ahelidhsel TAgid

16) The children will learn through as per Vygotsky’s theory. / agailcas & RAgua &
AR T & ATEIH ¥ ATWIAH FA|

1. by observing / & &

2. reading & writing / UGhY 3T forgey

3. society / HHATS



4. through books / J&dh & ATETH

Correct Answer :-
 society / HHATST

17) The intellectual disability resulting from Phenylketonuria can be minimized through: /

FeAlaFeIRAT ¥ cveet SNefe RFamrar F wgaanr fFar o ¥Far 8
1. Social interaction / ETHToIh TUH

2. Classroom teaching / @& fRreor

3. Environmental factors / TITaRUNT $HRE

4. Progressive education / FaTfaefer fram

Correct Answer :-
« Environmental factors / GATaIoNT Hh

18) When tests are given at the end of the semester, it is known as: / Sl T#TcT & Ad & gdiaror e s
g, A 3@ S e @

1. Summative Assessment / HRIfIA 3Tehctel
2. Diagnostic Assessment / =Glicleh 3TTehclel

3. Interim Assessment / 3IdRN# 3Tehole

4, Formative Assessment / JdedlcHD Theld

Correct Answer :-
o Summative Assessment / TRIFAT 3TTeholad

19) When developmentalists study common changes that is typical to all humans, it is known as )

o FasTaaTe WA aREdl 1 IeqaqeT F3d ¢, S weft wepeat & fow fafse 3, avsad FETH
STTAT STt 81

1. Normative development / fAamde fae™

2. Ideographic development / ATIHID (3msfEataftere) e
3. Informal development / AT faepra

4. Formative development / 3iTqaTiRes faera

Correct Answer :-



« Normative development / FcsTd® g

20) Inclusive education aims to eliminate and ensure that all children get their right to get
educated. / FATaRf R80T T 3T H FATCA FAT AR I GlaRaa e g & waht
T1 F I+ RATAT 1 F1 HRAFR wreT 3

1. Inequality / IHHATAAT

2. Challenge / ?:l?-ﬁ?-ﬁ

3. Problem / HET

4. Differences / 37X

Correct Answer :-
« Inequality / IHHATAAT

21) According to Orlich et al.(1985), which strategy fosters scientific thinking and the
enhancement of student problem-solving skills? 3{13ferd Te 3(el. (1985) & THR, HIH-
OIS A W SR B & JUWT &1 o+ & PN Bl geldl 62

1. Writing strategy/ oi@el I0TATIcl
2. Oral discussion strategy/ FlT&e Tl HI IO
3. Task card strategy/ HY FTS 0T

4. Visualization strategy/ £F J0TATTl

Correct Answer :-

e Oral discussion strategy/ AfTer ==t Hir wEfa

22) encompasses the idea of learning as an active process where those learning
are able to form new idea based on what their current knowledge is as well as their past

knowledge. / U dfepg ufthar & ©u § Afe & faar & gwifed &var 8 siel 3 Wi
I U TFA FH & FIY-T1Y 394 s 9 & SMYR IR ¢ fIaR a9 & 984 819 &1

1. John Dewey’s theory on constructivism / fSavTae W Sia 38 a1 Rga

2. Lev Vygotsky’s theory on constructivism / f¥&AT0TaG WX oid asaiicadr & bgid
3. Jean Piaget’s theory on constructivism / AT | Sia e & Rga

4. Jerome Bruner’s theory on constructivism / FHATOTaG W SRYA Sl ol gt

Correct Answer :-



« Jerome Bruner’s theory on constructivism / f#ToTarg UX SRIA SR 1 FgTd

23) Educating special children along with the typically developing children in the regular

schools is ./ Fraftra faemeal # omm dR R fereia a= & Jry-ary Iy s &1 Riféa
AT gl

1. Individualized Education / Safaaird fRref
2. Normal Education / 1T fveqr

3. Special Education / T fver

4. Inclusive Education / TATIA Trer

Correct Answer :-
« Inclusive Education / GATIM et

24) Which of the following is unsuitable for a kinesthetic learner? / fAgfefaa # @ #19-91 T
nferiad) siftrmaeaf & fore srguge 82

1. Providing them with opportunities to learn through activities. /Br%. IATATAT &b ATEITH T
TAITH PT 3THI UG BT |

2. Participation in field trips, drama, dance etc. / 8T HHUT, Afeh, FLFJEHT%ﬁ HTIT ST |

3. Using concept mapping method for teaching. )/ AT & fo@ 3RO ATATIAUT UG Tl ahl
SUYIIT AT |

4. Using problem solving method for teaching. / FR1&m0T & for T=ar THTem fafer &1 IuahT &A1

Correct Answer :-

« Using concept mapping method for teaching. / 31T & ToIT 3TTURUT ATARIFUT UgTd &1
ST HLAT|

25) Which of the following is not affected by socioeconomic status? / RF=ifaf@a & & wla-ar gaG*®
nfdw Rufa & wsnfaa &t sare?

1. Choice of neighbourhood / usiy fr udg
2. Quality of schooling / Fell e &r IOTA
3. Gender / folaT

4, Nutrition / GI¥OT



Correct Answer :-

« Gender / ToIdT

26) Which of the following is not a characteristic of explicit memory? / fRAFafaf@a & ¥ Hia-&dy Tuse

wfr & Rewar @t ¥

1. Unconscious / 3&d

2. Intentional / giaamd

3. Awareness / SITITRDA]

4, Recollection / THAIOT Th

Correct Answer :-

« Unconscious / 3=d

27) Theory of connectionism was proposed by: / TaIsI-dIG &1 RIgid s §RT UXdIfad fHbar
g1 YT:

1. Skinner / FEhaX
2. Tolman / Tl
3. Pavlov / UTdelld
4, Thorndike / AqeAfSh

Correct Answer :-

« Thorndike / MAfSh

28) Children can recognize themselves as whether they are a boy or a girl, at the age of

./ Tt g A T WE B UG 9Pd & [P 9 TSHI 8 a1 asdl|

1. Five years / FIGEGL

2. Four years / IR a¥
3. Three years / diel ag
4. Six years / B¢ ag

Correct Answer :-

« Three years / didT a¥



29) Who discovered classical conditioning which is a learning process governed by associations
between an environmental stimulus and another stimulus which occurs naturally? / &3

FaTfAFa FIRfAT H @ i I TF TAGONT 3a9T HR TF 37T JAaTe F i
wafAves @Rt Faifad e 3w 6 ufkar § O Fannfds v @ ad @

1. Edward Thorndike / Tsds AsISh
2. Ivan Pavlov / a1 Uideild

3. Wolfgang Kohler / alehdlaT dlgek
4. Jean Piaget / St fOama

Correct Answer :-

o Ivan Pavlov / a9 dradlia

30) Attention is the process of consciously focusing on a .| AU (LT) §a9d T &
W a1 Hfga w i ufkar g

1. Behavior / <IdgR
2. Stimulus / 3&19<T

3. Body language / #Td HIraAT
4. Reaction / Gfcifehar

Correct Answer :-

e Stimulus / 359I

Topic:- General Hindi (L1GH)

1) T T ARl & R sy & orerT ded g1d 81 it a1a it v safea & ford o &) el @ %
et v & o oft T 81 ag ot =18 | SaTeRul & o fondt Sw &1 fAmaor v Sevmufa & o faera &t
FHd1 8, e 9t 37 39 A & R =i anfaa giar @ e 99 39 & Fawe uivar & s e e
STET B 1 ST AT ATl & Rl fApy 1 SrerT SrenT oiewd gl 81 3 Sewd 33 aafad 3t Righ #t uifufa
F TR Bt 31 IETERN & o 3t gR v & ifq | g+ arat St & o uat wew &1 a1 fawr gt
TPHar g1 981 gudl 3R, faeett a1 gras ® ve+ ara fossdt snetdt & ford At ¥ a1 TRIiNId &1 94941 fasra gt
a1 81 39 IRE I AP & U A&7 o1 Tewd Usdl 8 o eiftres & 3if¥res @i &t wraer uga 9@ |

wia aafaa oma: foadt AT 3t Fa Mg B I8T B THSI A U 37 W Y 7 frerdt @ 39 wfa safaa sma
Fgd g1 af 2006 1 fay fawr Rlé F rgaR yRa ¥ ufa safes Ara™T M9 28,000 T 31 fadt =
ST F 3T B GHdl AP STE Hod & | fHel 33 # Iurfea oo oma & 4 frafa @ g7 arelt sma a1
U & 91¢ S I9dT § S TP d UE IUTG Hed & | Ufd 1000 1 ¥ U T $1 3Y A Ugd WA aTdd I Bt
=T $ FRIY g &R Fgd &1 T8 SiTdpst fora1 w0 81 fiwra & =f¥wion S a1 € st a1 wiar 81 98 '
Teaqul TUT 3 i suw fhelt x1 o Iuasy Ty glaemait @ urawr SR Iudskdr &1 udr gadr 8 | au
2011 P TRIVFT F SR YR § U] g o= 30.15 81 [oU 3R AfFan &1 3rgura: ufd g9k 7ol &



gor=T ® afgarsh $t o= o1 & srqurd Fad 1 afe a8 sifest &4 giar 8 a1 I8 9ara ¥ ufgensi & f@are
mm;m%ﬁm%l qd 2011 Ft STRIUFT & FFAR HRA | {7 SUTd Ui TR Goul &1 ga=m o
940 #fgan |

ITYe TN H! TSP AR U Y Y= BT IR ad13¢|

u=: 9 2006 F1 fay e i & sgaR yra & ufa safe aremn sma fFah 22
1. 28,000 TUY

2.30,000 ¥4I

3. 35,000 U

4, 25,000 TUY

Correct Answer :-

. 28,000 TUY

2) 3T AT AN & ford fapTa & 3rerT @18y gl 81 ) 91 fhsd) vep aufda & ol fawr €1 el @ 9%
el gav & ford oft far 81 ug s st AT | Ierevvr & ford st 3w &1 fRmifor wer Seivufa & o e &1
TP g, Afe a8t 7 37 A & R famret wifsa ghar @ e 39 39 & Fave v 3 fFeeRia far
STET 3 1 SET ST ANl & ford fapy ) SrerT et 5iwd gl 81 4 evd 39 aafad 3t Righ &t ukfufa
F TR Il T 1 ITERVT & ford fhft g o191 & 7119 | ¥§+ 9Tl SMGHl & ol Yad! G8® $I -1 (9P gt
a1 g1 981 gasl 3iR, faeett a1 gras © ve- aral foedl 3nedl & ford A2 Yo a1 vayiid &1 94+ fasra gt
TPHa1 81 39 IRE A o™ & U @67 o1 Tewd Usd! ¢ forad Siftres & 3ifte @il &t Biaer Ugg 9& |

ufa cafe 3ma: fhdl 31 &t oo 3ma & 98T BT STHHEI | HIET 31 W S A et § 39 ufa safad sma
Fgd &1 94 2006 1 fay faerm Ul & garR HRa & ufa dfes |rarT 8ma 28,000 $ud g1 fpsdt 3= &
SAIfGd T AT B TPHel AT IaTG Hed ¢ | [ o § SIS P 319 & | Fafd | g arelt oma o
Y & 91¢ S T9d1 @ 39 AP d URE 3G Had & | Uid 1000 o H TH A1 1 3 A Ugd 7 91dd F=f ol
= $ FRIY Jg &R Hgd &1 Tg SiTdpe! fora1 w0 81 fiwra & =f¥wion F a1 € 3rest a1 wrar 21 98 '
Teayul TUT 3 i sua fhelt 1 o Suasy Ty glaemait @ urawr SR I &1 udr gadr 8| I
2011 B FHIUFT F FAR YR F Y g7 <X 30.15 71 T3 3R AfRen &7 srqurd: ufd 3ok goul ot
gor=T ® afgarst $t @ o1 & srqurd Fad 1 afe ag Sifest &4 giar 8 a1 I8 9ara ¥ ufgensi & f@are
Wﬁ:%mﬂﬁ;m%ﬁm%l qd 2011 Ft STRIUFET & FFAR URA § {7 U Uil TR Goul &1 ga=m &
940 |

ITYe TN HI USH 1R U Y Y= BT IR ad13¢|

U= Y ¥ 3R TRIIS BT A1, &I &4 | fohg frerar 82
1. AMHT STh ATl B

2. UETET Zelich aTell ot

3. STl A & dTell Y

4. 93 AT & Aarfaat ot

Correct Answer :-

o g3 AW &b ATt



3) QT TR AT & ford fapT & 31T @e gid &1 St a1 fopelt uop safaa & o faera gt wanddt € 9%
<t gk & R oft T 81 9 =¥t =1 | SereRur & R fadY 3w &1 Ffor v Sevmufe & fmd e &t
FHdT 8, Afp I8 30 37 ANl & ford fRammret wnfara gtan @ e 59 30 & Fawe uivar @ e g fasa
ST 81 ST SreT AN & R faey &Y SrerT et e il 81 3 e 39 aafa ot Right ot ufvfufa
F TR gl T 1 ISTERVT & R fpeft v ov11 & iTq | ¥ ardk St & R uaat ag @ &1 991 fawra gt
o g1 T8 gadt 3R, et a1 gras # v aral fondY serht & o A<t Yo a1 vaid &1 a1 e gt
TPl 81 39 a8 A AP & VY 767 o1 oewd Usdl 8 R eiftre 9 sif¥re @ & wraer uge 9& |

ufa aafdy ama: frft AW &t oo Mg Y 98T B TS A U 3R wR S Ay fredt 3 39 ufa safe smy
Fgd g1 I 2006 B fay fawry Rué & AR URa ¥ ufq afea Ara™T M9 28,000 T 31 fawsdt =1 o
ST P 3T B GHel AP SATG Hod o | fHdl 32 & I oot omy & 4 frafa @ 817 areft sma a1
U & 91¢ Sl 9941 3 S TP A URE SUTG $ed & | Ufd 1000 11 ¥ TH T $1 3T A Ugd WA a1 I Bt
@I ®1 RAIY] g <% Fgd 81 98 sifwst Ria-1 70 8 ooy & =Raor 3 31 8 st a1 ST 31 98 U
TEaqul THT § i 3ud fhelt 331 o Iuas WA Fraemaii B [urawr 3R Iuestdr &1 udr gddr 8 | ad
2011 $t STRIUAET & AR URA § Y] gog &= 30.15 71 TV MR Ul &1 3rgura: ufa IR goul &
ger ® afgarst #t @ o1 i srgurd $ed 1 afe ag sifesT &4 giar 8 Ol g8 wae ¥ ufgensit & f&¥are
ﬁﬁm%aﬁmﬁl 9 2011 B TRUAET F AFAR URG F T 3gura ufar g9 qoul & g &
940 |

IUa TR P UgHR A1Y YR Y U= $T I} Jarsy|

UR: 3R B Wy Jlaurs i qurasr iR IuARAT BT ydr fHad gd«r 82
1LRY A X ¥

2.3 ¥ PIS AL

3. 3TS Il I FE&AT I

4.93 golc ¥

Correct Answer :-

4) 3T I ART & ford I & SrerT @ed gd 81 5Nt 91 el ver aafad & ford faor §) wanelt § 7%
<t gk & R ft o 81w =¥t =1 | SereRur & R fadY 3w &1 FAfor v Sevmufe & frd e &t
ol 8, Afh-T a8t S 37 @il F R fa-=res st wnfaa gian @ g 39 30 & Sl uivan | frweiRa faran
SITAT 81 ST SreT AN & R faepTy &Y SrerT et e il 81 3 e 39 aafa o Right ot ufvfufa
F TR Il T 1 IRV & R el v o1t & iTq | ¥ 91k St & R uaat ag e &1 9911 fawra gt
o g1 T8 gt 3R, feeht a1 gras # v aral fondY serht & o A<t Y a1 e &1 ST e gt
TPl 81 39 aRE A AP & VY 767 o1 oewd Usdl 8 R eiftre 9 sif¥re @ & wraer uge 9& |

wfa aafdy ama: frft AW &t oot oma &Y 98T B TS A T 3R wR S A et 3 39 ufa sfd smy
FEd 1 I 2006 B fay fawr e & AR URa ¥ ufq aafea Ara™T M9 28,000 T 31 fawsdt = o
ST P 3T B Ghl AP SATG Hed o | fHdl 32 & I oo omay & 4 frafa @ 817 areft sma a1
U & 91¢ Sl 9941 3 S TP A URE SUTG $ed & | Uid 1000 =1 ¥ TH T o1 3T A Ugd WA a1 g Bt
@I o1 RAIY] g <% Fgd 81 98 sifwst Ria-n 70 8 oy & =Raor 3 31 8 st a1 91T 31 98 U
TEaqul THT 3 i 3uw fhelt ¢x1 o Iuas TRy Fraemaii B [urawr 3R Iuestdr &1 udr addr g | ad
2011 $t TRIUAET F AR URA § Y] gog &= 30.15 71 TV MR UfFen &1 3rgura: ufa IR gul &
gor ® afgarst #t @ $1 fiv srgurd $ed 1 afe ag sifesT &4 giar 8 ) g8 wae ¥ ufgensit & f{¥arw
ﬁﬁm%aﬁmﬁl 9 2011 ' TRVAT F AFAR YR F T 3gura ufar g9IR qoul & g &
940 |



IUT TR P UgHR A2 IR Y U= $T Ik Farsy|
UH: UGP! S 1 [P forg |el 7ra- & faerd 72
1. §T-eIreT & o & ferw

2. #ATHR arfdal & forw

3. IR drell & forw

4. HE arell & forw

Correct Answer :-

5) ST ST AT & ol fara & 3rerT @ed g1 €1 St a1a it U safaa & ford faerw gt Wl @ %
et g & ford oft faprr Bt 9 w=dt 18T | SeTeRur & ford f6ft 3w &1 fAwifor ues Savmufe & o fawrr &t
TP g, Al a8t S0 37 Al & o fammra Tt wifea ghar @ forg 39 39 & Fade wivan 3 fAeiia far
STAT 8 1 SIeRT AT AR & o faspTa Y S1eT SrenT o gidt 81 4 S 3| aafad 3t foigft &t ufivfRufa
F TR Bt 31 ISTERN & o et gR v & ifq | g+ arat St & o uat we e &1 a1 fawr gt
THdr g1 T8 gt 3, el a1 gras # ve arat fdY snerht & R A< Yo a1 veia &1 5941 e gt
HHdT 21 39 G A e & U a8 Bt oevd Usdl & R 3iftre & 3iftre @it &1 wraer uga 9% |

wia aafad oma: foadt A= Ft Fa g B IgT B TS A U o+ 92 S 0137 Ferd! & 39 ufa safad sma
Fgd g1 T 2006 1 fay fawr Ruié F rgaR U o ufq srfes TrarFT oma 28,000 FU g fdt = o
ST T 3T P TP AT IS F5a 3 | bt &2 A Seurfea ot oma & | Frafa & g arelt ama
UM & 91¢ S 9941 & S TP d e SUTG Hed & | Ufd 1000 5.8 UH T $1 3 A Ugd WA a1dd I Bt
= $ FRIY GG &R e ¢ | T8 SiTdps! Fora1 BH.81 e & effwiuna a1 € a1 9= wrar 81 98 '
Teaqul TUT & i suw fhelt ¢%1 & ST, TaRd FALTsil B UET 3R ST &1 Udl gadr 8 | ad
2011 F FTIUFET & FHR YR J R3] 97 ¥ 30.15 81 G50 SiR Afedn &1 surd: uii g9k goul ot
gorT o afgensi $t wE &) R srqurd Fed 81 afe I8 dbsT HH gidT ¢ df I8 TuTe A ufgensi & Ryamw
Wﬁrm%ﬁm%l ¥ 2011 B TRUAT F AFAR YR F AT 3gura ufal IR ool &) gamn &
940 |

ST TR P UgHR A7 IR Y U= $T Ik Farsy|

WA: Uit 1000 0 § TS W19 $1 3T F UA A AT S| &1 AT Bl T Dol 02
1. R g &I

2.ga1 {cg &I

3. U g &

4. IITH FY &I

Correct Answer :-

6) ST 3ERT A & Rl faprT & orerT @gy g1a &1 Y a1a fhlt vep safa & o i &Y aoelt @ 9@
et gk & R ot T 81 9 o=t =1 | SereRur & o fadY 3w &1 FAafor v Sevmufe & fmd e &t



TP g, Al a8t S0 37 Al & o fammra Tt wifea ghar @ forg 39 39 & Fave v 3 fAsiia fear
STAT 8 1 SIERT T AR & o fApTa Y 31T SreiT oo gidt 31 4 SR 3| aafad it figft &t uivfRufa
F TR Bt 31 IETERN & o et gR v & iTq | g+ a1t el & o uat wew &1 a1 fawr gt
AT 3| T5 gt 3R, faweht a1 grard H vot aret et amreht & o ) Yo a1 vl &7 a1 T @)
HHdT 21 39 G A AP F N a8 Bt oo Usdl & R 3iftre | siftre @it &1 wraer uga I |

wia aafaa oma: foadt AT 3t Fa g B I8 B THSIT A U 37 W N 7 frerdt @ 39 wfa safaa sma
Fgd g1 T 2006 # fay fawr Ruié F AR URa ¥ ufq aafea Ara™T M9 28,000 T 31 fadt =
SAGd T T B Hel AP IATE Hod ¢ | fP <=1 § Iarfea g ema & A Frafa F g4 areht oma a1
UM & 91¢ S 9941 § S TP d UE SUTG Hed & | Ufd 1000 11 ¥ U T $1 3 A Ugd WA a1dd I Bt
= $ FRIY GG &R Fgd &1 T8 STt fora1 w0 g1 fiwra & ef¥wion S a1 € 3T a1 oirar 81 98 '
Teaqul TUT 3 i suw et x1 o Iuas TRy glaemaii & urawr 3R Iuskd &1 udr gadr 8 | ad
2011 F FTIOFT & FAR YR F Y Gc7 <X 30.15 71 T 3R AR &7 3ura: ufd g9k goul ot
gor-T o afgensi #t wem &) R srqurd Fed €1 afe ag sifesT $H ga1 3 df I8 Iure § ufgensi & Ryamw
ﬁfﬁﬂﬂﬁ?&ﬁ%ﬁﬂ'ﬂfﬂ%l ¥ 2011 ' TRVAET F AFAR YR F T 3rgura ufar goIR qoul & gamn &
940 wfgarsi $1 31

IUT TR P UgHR A2 IR Y U= $T Ik Farsy|
U= fdt 31 o Iaunfed o oma & T FEd 72

1. Hhel UL 3cUIg

2. ghel e faeprd

3. Hehel Te] 3

4. hd e &I

Correct Answer :-

« Hhol UL 3cUlG

7) QT AT A & ford faepTa & 31T @e gid &1 St a1 el o safaa & R faera ot waddt @ 9%
et gk & o oft T 81w =) 1Y | SereRur & o faft 3w &1 fAfor v Sevmufe & R e &t
TP g, Al a8t S0 37 Al & o fammra Tt wifea giar @ forg 39 39 & Fave v 3 fAeiia far
STAT 8 1 SIERT AT AR & o fApTa Y 31T SreiT oI gidt 81 4 e 39 aafad 3t foigft &t uivfRufa
F TR Bt 31 IETERN & o et gR avTe1 & ifq ® g+ a1t el & o uat we e &1 a1 fawr gt
A1 3| T5T gt 3R, faweht a1 grard H vo1 aret et armeht & ford AE) Yo a1 vl &7 a1 fapra @)
HHdT 21 39 G A Ao F N a8 Bt oo Usdl & R 3iftre & 3iftre @it &1 wraer uga 9% |

wia aafaa oma: fondt AT 3t T g B I8 B THST A U 37 W Y 7 frerdt @ 39 wfa safaa sma
Fgd g1 T 2006 1 fay fawra Ruié F AR URa ¥ ufq aafes Ara™T M9 28,000 T g1 fadt =
SAEd T T B THel AP IATG $od ¢ | fH <=1 & Ianfea g ema & A Frafa F g4 areht oma a1
U F 918 S 9941 § S TP d UE SUTG Hed & | Ufd 1000 71 ¥ U T $1 3 A Ugd WA a1 g Bt
=T $ FRIY GG IR Fgd ¢ | T8 SiTdpsT fora1 w4 81 fiwra & ef¥wion S Ia-1 € st a1 wirar 81 98 '
Teaqul TUT 3 i Suw et ¢x1 o Iuasy Ty Jlaenaii & [urawr sk Iueskdr &1 udr gadr 8 | ad
2011 F FTIUFT & FAR YR F Y Gc7 <X 30.15 71 T 3R AR &7 3ura: ufdl g9k goul ot
gor-T o afgensi $t wen #) R’ srquid Fed €1 afe ag sifesT $H gia1 3 df g8 Iure § ufensi & Ryamw
uirf%-rauﬁgw%ﬁm%l ¥ 2011 ' TRVAT F AFAR YR F T 3gura ufar IR qoul & gamn &
940 wfgarsi F1 71

ST TR $ UGH -1 T T Y= T &R qarse|
U= 99 2011 F FTHUAT F SFEAR HRA A Rig) gog &R fHa-t 82



1. 40.12
2. 30.15
3.12.30

4. 35.12

Correct Answer :-

e 30.15

8) 3T 3 AN & o fapry ¥ 3reT w84 g 1 =i a1d foreft vep aufad & o faerr 8 gl @ a8
Pt gk & o ot T 81 g o=t 1Y | SereRur & o fadft 3w &1 fRmfor ves Sevmufa & o e &t
TPl g, AP a8t 39 37 @ & A et wifya gar & o 39 30 & Favie ufvar I fAewifra frar
ST € | 3IERT 3T i & o) APy &Y 3renT 3relT siRed gidt 81 A vd 39 aufad &1 foieht &t uRfRufa
F IR il 31 IRV & R el @7 v19t & 7iTq | v rak et & R vt Tse &1 91 A gt
TPHar g1 981 gudl 3R, faeett a1 gras © ve+ ara fossdt snetit & ford At ¥ a1 TRIiId &7 94941 fasra gt
TPHa1 81 39 IRE I o & U a6 o1 Tewd Usdl 8 o ¢iftres 9 3if¥res @i &t wraer uga 9@ |

wfa cafeT 3ma: fpdlt 39 &t oo Mg B T8T BT STHE A HIT 31 W S AR et § 39 ufa safad smy
Fgd g1 af 2006 1 fay fawr RNé F rgaR uRa ¥ ufa safe AramT M9 28,000 T 31 fasdt =
ST F 3T B THd AP STE Fod & | fHHl 3 # Iaurfea oo oma & 4 frafa d g7 arelt sma a1
e & 91¢ ol 9947 § 39 Hohd U9 3IG Hed ¢ | Ufd 1000 - § T ITel 1 39 A Ugd 731 ardt g Bt
=T $ FRIY Jg &R Hed ¢ | Tg SiTdpst fora1 o 8l fTwra & =feiv I Ia=1 €1 8r=371 41 orar 81 98 '
Teaqul TUT 3 i suw et vt o Iuasy Ty giaemsit @ [ure 8 Suesk o1 udr gadr 3| a9
2011 B FTOFT F SFAR YRd F R3] g7 o2 30.15 71 TV 3R AR &7 3urd: uid g9k goul ot
ga=T | afgarei st "= &1 &6 qud Fad 1 afe 9z Sifrst @H giar 8 a1 a8 9ae ¥ ufgensi & f@are
Wmm;?w%ﬁmél e 2011 F SO H SFHER WG # feit] 3UTd Ui §9TR YUl &I ga-m o
940 ufgarsii ot g1

ITYe TR B! TSP 1R U Y Y= BT IR 9d13¢|

WRA: Ufd 89IR g6l F1 g § ufgansii @) T &) o1 Fed 82
1. B STAHEAT

2. 3irad 3T

3. foIaT 3regurd

4. 821 & STFHEAT

Correct Answer :-

9) e A AN & o fapTT & e @ey B1d &1 < ard fhlt vep aufady & o e &Y welt @ @@

et gk & o oft v 81w o=t =18 | SaTeRur & o fondt Sw &1 fAmafor ws Sevmufa & ford faera &t
TPl 8, AP a8t 39 37 @ F A fAmre St wfya giar § o 39 30 & Sravie ufvar I fAewifra frar
ST 8 | 3IERT 3T N & o) APy &Y 3renT 3relT sied gid 81 A Sevd 39 aufad &1 foieht &t uRfRufa
F TR Bt 31 ISTERT & ford et gR v & iTq | g+ a1t St & o uat wew &1 a1 fawra &t



TPHar g1 981 gudl 3R, faeett a1 gras ® ve+ ara fonsdt snetit & ford At ¥ a1 TRIiId &1 9441 fasra gt
TPHal 81 39 IRE I o & U A&7 o1 Tewd Usdl 8 o eiftres 9 sif¥re @i &t wraer uga 9@ |

wfa cafe 3ma: frdt 3 &t oo Mg Y T8T BT TS A HIET 31 W S AR et § 39 ufa safad smy
Fgd g1 af 2006 1 fay fawr RNé F rgaR uRa ¥ ufq safe TramT Mg 28,000 T 31 fasdt =
ST F 3T B hdl AP STE Hod & | fHel 3 # Iaurfed oo oma & | frafa d g7 arelt sma a1
U™ & 91¢ Sl 9941 § S TP A U9 SUIG Hed & | Uid 1000 511 T TH AT $t 3U A Ugd WA a1 I Bt
= F FRIY Jg &R Hgd &1 T8 SiTpst fora1 w0 81 fiwra & ef¥wion S Ia-1 € st a1 rar 81 98 '
Teayul TUT 3 i suw et 31 o Iuasy Tara glaemait @ urawr sk I &1 uar gadr 8| I
2011 B FHIOFT F FAR YR F Y Gc7 <X 30.15 71 T3 3R AR &7 srurd: wfd g9k goul ot
gor=T ® afgarei $t @@ &1 & srqurd Fad 1 afe a8 ifesT &4 giar ¢ dl I8 9ara ¥ ufgensi & f@are
uiri%mnﬁgw;%m%l 9 2011 Ft STHIVFET & FFAR HRA § 7T U Ui goIR Goul &1 ga-m o
940 dfgarsii ot g1

ITYe TR B! TSP AR U Y YR BT IR ad13¢|

W Ue & e fpan wan faer o g & e o Ry € g &2
1. gHad:

2. U1

3.

4.

Correct Answer :-

10) 3T 3T RN & ford fawTe & ST wed Bl & | i1 a7d forsll U aafey & o fasry 81 9l 8 98
ot gk & o Wt T 81 g oiedt 1Y | ISTeRr & ford fobdt S &1 fmfor v Sevmufay & o faer &t
TPl g, AP a8t 39 37 @ & A et wifya gar § O 39 30 & Favie ufvar I fAewifra forar
ST € | 3IERT 3T N & o) APy &Y SreT 3reltT sied gid 81 A evd 39 aufad &1 foieht &t uRfRufa
F IR gl 31 IRV & R fpeft @7 v1et & 79 | v 9rak et & R vt Tse &1 991 A gt
TPl 7| I8 g SR, foeft a1 g o ve aret fnit aimeaht & Rrd A Yo a1 Yewvea o1 a9 R B
a1 81 39 IRE A Ao & U a6 o1 Tewd Usdl 8 o eiftres & sif¥res @i &t wiaer uga 9@ |

wfa cafe 3ma: fpdlt 3 &t oo Mg HY T8T BT STHE A HIT 31 W S AR et § S« ufa safad smy
Fgd g1 af 2006 1 fay fawr RNé F rgaR uRa ¥ ufa safe AramT M9 28,000 T 31 fasdt =
ST F 3T B hdl AP STE Fod & | fHel 3 # Iuriea oo oma & 4 frafa d g7 arelt sma a1
U™ & 91¢ Sl 9941 § S TP A U9 SUIG $ed & | Uid 1000 11 T TH I $1 3U A Ugd WA a1 I Dt
= F FRIY g IR Hgd &1 T8 STt fora1 w0 81 fiwra & ef¥wion S a1 € st a1 wrar 81 98 '
Teayul TUT 8 i suw et 31 o Iuasy Tara glaemai @ uraw SR Ik &1 udr gadr 3| I
2011 B FTIOAT & FAR YR F Y Geg o2 30.15 71 T3 3R ARen &7 rurd: wfd goIR goul ot
ga=T | afgarsi $t w@mn &1 &6 srqurd Fad 1 afe a8 ifesT &4 giar ¢ dl I8 9ara ¥ ufgensi & f@are
uiri%mnﬁgw;%m%l qd 2011 Ft STRIVFET & FFAR URA § 7T U Ui goIR Goul &1 ga-m &
940 fgarsii @t g1

IUYT TR Bl UGHR A ID 7Y U $T Sk 93¢
US: SRIUET BT Mg o o 82

1. §TH | PG a0



2. haol FI&X Mal T I0TT
3. STl T o IOTAT
4. & NI T IO

Correct Answer :-

o A &F AN FHT IUTAT

11) 3T S ARN & o fae & orerT @ed g1 €1 <Y ara fondl v aafaa & o fasry oY vl @ 9%
et gk & o oft v 81w o=t =18 | SaTeRur & o fondt Sw &1 fAmaior v Sevmufa & ford faera &t
FHd1 8, e 9t 37 39 A & R e anfaa giar @ e 99 39 & Fawe uivar & s e
STET 1 ST AT ANl & Rl fAy 1 SrerT SrerT iwd gl 81 3 Sewd 33 aafad 3t Righ #t uifufa
F TR Bt 31 IETERN & ford et gR v & ifq | g+ arat St & o uat wew &1 a1 fawr &t
TPHar g1 981 gudl 3R, faeett a1 gras ® ve+ ara fonsdt snetdt & ford At ¥ a1 TRIivId &1 941 fasra gt
a1 81 39 IRE I o & U A&7 o1 Tewd Usdl 8 o eiftres & sif¥res @i &t wraer uga 9@ |

wia aafaa oma: foadl AT 3t Fa Mg B IgT B THS A U 37 W Y 7 frerdt @ 39 wfa safaa sma
Fgd g1 T 2006 1 fay fawra Rlé F gaR URa ¥ ufa safes AramT M9 28,000 T 31 fasdt = o
ST $A 39 B GHdl AP SATE Hod ¢ | fHel 33 & Iurfea oo oma & 4 frafa @ g7 arelt sma a1
UM & 918 S 9941 8§ S TP d U IUTG Hed & | Ui 1000 71 ¥ UH T $1 3Y A Ugd WA a1dd I Bt
=T $i FRIY g &R Fgad ¢ | Tg SiTpsT fora1 o 81 fiwra & =f¥wion S a1 € st a1 w41 81 98 '
Teaqul TUTT 3 i suw fopeft ¢x1 o Iuass Ty giaenaif & Turewr 3R It &1 udr gadr 8 | a9
2011 B FTIOFT & SFHR YRd F Y 97 <2 30.15 81 THW 3R Al &1 srute: fd g9k Ul 3t
gorT o afgenai Y W & i srquid Fed 81 afe g siiest $1 glar & @ g8 ure § ufgarsi & Ryamw
Wﬁam;m#w%aﬁmél ¥ 2011 B TRUFT F IR URA F T ergura wfar IR qoul & garmn &
940 dfgarsii @1 g1

ST TR $I Tgh? A I 7T U= $T S«ig aarsul

uz: fordlt A% Y pat Mg Y 98T B FTHEE F UFT A W S AR fArerht @ 3/ 7 B 82
1. 3irNfAd Scurea

2. 9fa aafh 3

3. SGRIAOT

4. Hhel ] 3cUIG

Correct Answer :-

. Ufa =gfe 3

12) 3EAT e AN F o fapr & orer @gd i €1 &l a1a feft vas aufea & o faora 81 aaedt @ 98
et g & ford oft farr Bt 9 w=dt =18t | SeTerur & ford f6ft 3w &1 fAwifor wos Savmufe & o fawrr &t
TP g, Al a8t S0 37 Al & o fammre Tt wifea ghar @ forg 39 39 & Fade v 3 fAeiia far
STAT 8 1 SIERT e AR & o fApTa Y 31T SreiT oI gidl 81 4 S 39 aafad 3t figft &t uivfRufa
F TR Bt 31 IETERN & o et gR v & 7ifq | g+ arat el & o uat we e &1 a1 fawr gt
A1 3| T5T gt 3R, faweht a1 grard H vot aret et amreht & o A9) Yo a1 vl &7 a1 fapra @)
HHdT 21 39 G A Ao F N a8 Bt oo Usdl & R 3iftre & siftre @it &1 wraer uga I |



wia aafaa oma: foadt AT 3t Fa Mg B I8T B THS A U 37 W Y 7 frerdt @ 39 wfa safaa sma
Fgd g1 af 2006 1 fay fawra Ré F AR URa ¥ ufq safe Ara™T M9 28,000 T 31 fasdt =1
ST $A 3T B GHdl AP STE Hod ¢ | fHel 33 & Iaurfea oo omay & 4 frafa @ g7 arelt sma a1
U & 918 S 994l § S TP d UE IUTG Hed & | Ufd 1000 7 ¥ UH T $1 3Y A Ugd WA a1dd Il Bt
=T $ FRIY g &R Fgd &1 T8 STt fora1 w0 81 fiwra & ef¥wion S a1 € st a1 wiar 81 98 '
Teaqul TUT 8 i suw fhelt ¢x1 o Iuasy Ty glaemait @ urawr SR Iudskdr &1 udr gadr 8 | I
2011 F FTIOFT & FAR YR F Y] 97 <X 30.15 71 T 3R AR &7 urd: ufdl g9k goul ot
gor-T o afgensi t wen &) R srqurd wed 81 afe ag sifesT $H ga1 3 df g8 Ture § ufgensi & Ryamw
u%ri%mm?fﬁrr;ﬁmh%l ¥ 2011 ' TRUAT F AR YR F T 3rgura ufar goIR qoul & garmn &
940 dfgarsii ot g1

ST T B UGHR A T MY UL BT Ik qaq15y |
w=: fedt &1 A Iaurfed oo oma ® A frafa @ g9 arelt oma &Y ge™ & 91¢ oY 99d1 3 39 T Fed 82

1. Hehel B Y

2. Hehol T 3cUTG
3. el e 3
4. Fehel EXe] T

Correct Answer :-

« Fehel W] 3cUIG

13) 3EAT T AN & o FapT & orerT @ed g1 €1 &l 1d 6l vos o & o faora &) aoelt @ 9%
el gav & o oft farr 21 ug s st =Y | SqieRyr i@ fewll Su.@1.fHufor e 3einufa & o faera @)
TPl g, Afb ael SH 37 Al & ford famTrp Rl wifad giar 8 fore Su.80 & dave uivar 3 fesRia far
STET | ST AT ATl & Rl fAdy o1 SrerT SieiT Siewd sidl-a | 3 Sievd 39 aafad 3t Righ #t akfufa
F TR Bt 31 ISTERT & o et R avTe1 & 119 | Y5+ a1t SMTeHl & o) uat We e &1 a1+ fawr gt
TPHar g1 981 gudl 3R, faeett a1 gras ® ve+ ard fossdt snetdt & ford At ¥ a1 TRIiId &1 9491 fasra gt
a1 81 39 IRE I P & U A&7 o1 Tewd Usdl 8 o eiftres & 3if¥res @i &t wraer uga 9@ |

wia aafaa oma: foadl AT 3t Fa Mg B IgT B THS A U 37 W N A et @ 39 wfa safaa sma
Fgd g1 T 2006 1 fay fawr RNé F gaR URa ¥ ufq safe Ara™T M9 28,000 T 31 fadt =
ST FA 3T B GHd AP STG Hod & | fHel 33 & Iurfea oo oma & 4 frafa @ g7 arelt sma a1
U & 91¢ S 99dT 3§ S TP d U IUTG Hed & | Ui 1000 1 ¥ UH T $1 3Y A Ugd WA a1t I Bt
=T $i FRIY g &R Fgd &1 T8 SiTdpst fora1 w0 81 fiwra & ef¥wion S a1 € st a1 wiar 81 98 '
Teaqul TUT 3 i s fhelt 1 o Iuasy Ty glaemait &Y urawr s Iuskdr &1 udr gadr 8 | a9
2011 B FTIOFT & FAR YR F Y] 97 <2 30.15 71 T 3R AR &7 urd: ufd g9k goul ot
gorT o afgensi t wen &) R srquid wed €1 afe ag sifesT $H ga1 3 df g8 Ture § ufgensi & Ryamw
u%r%am?fﬁn;ﬁmh%l ¥ 2011 ' TRUAT F AFAR YR F T 3rgura wfar g9IR qoul & garmn &
940 dfgarsii ot g1

STIE TR B TP 1 IR T YT BT ITR AT
=: B RIY I X F1 AP & I0H W T AHT o6 82
1. 30T

2. 3
3.90



4. H1ATT

Correct Answer :-

o 3Tl

14) 3T S ARN & o fapr & SrerT @8d g1 €1 oY a1a fondll v cafad & o faery Y Al 8 9%
et gk & R ot T 81w o=t =1 | SereRur & o fadY 3w &1 fAfor v Sevmufe & fRmd e &t
HHd1 8, e a6t 37 39 @ & R e anfa giar @ e 99 39 & Fawe uivan & e e e
SITAT 81 ST SrerT AN & R fadTy &Y SrerT et e il 81 3 oo 39 aafa o Rigiht oY uffufa
F TR Il 31 IRV & R fpeft v vt & 7iTq | v arat st & R vt Ige &1 991 [ gt
THdr g1 T8 gt 3, feeht a1 gras # v aral fodY siert & o A<t Yo a1 e &1 591 e gt
THdT 31 39 8 A fahTH & T 967 F oevd Usdl ¢ orad aiftre 9 e @il &t wraer ugd 9@ |

ufa cafdT 3ma: fordft A &t oo Mg B I8T B TS A HET 3R W S AR et @ 39 ufa safe sma
Fgd g1 a9 2006 1 fay fawr Rué F AR YR ¥ ufq rfea Tra™T M9 28,000 T g1 fawdt =1 o
ST $ 39 B GHel AP STG Hed ¢ | fHdl 32 & I oo oma & 4 frafa @ 817 arelt sma a1
UM & 91¢ Sl 9941 § S TP A UE SUTG Hed ¢ | Ufd 1000 11 ¥ T T $1 3 A Ugd WA a1 g Bt
TEI B RAIY] g <% Fgd 81 98 Sifwst Ria-1 70 8) Aoy & =Rwor I 31 8 3t a1 91T 31 98 U
Teaqul THT @ i Saw fhelt ¢x1 o Iuas TRy Flaemaii &Y [urawr 3R Iuestdr &1 udr gddr 8 | au
2011 $t STRIUAET F AR U § Y] gog &= 30.15 71 TV 3R Afgen &1 srqura: ufa gk ol &t
ger ® afgarst #t w@=n $i fi srqura $ed 1 afe ag sifest #H giar 8 o) g8 wae ¥ ufgensit & f{arw
Wﬁlm%ﬁmﬁl ad 2011 ' TUET F AFIAR YR F R 3gura ufd 9R gl & g |
940 |

ST TR F Ugdhe A7 IR 7T U= $T Ii? qarsu|
TR: HET-SHE @l & e fyeTa @y $4 g 82

1. UF FAT

2. Frdstfas

3. 3TcI9T-37eldT

4. s

Correct Answer :-

o 3TcldT-3Teldl

15) 3T S ARN & o fae & SrenT @8d g1 81 o a1a fodll v cafadt & o faery Y wapell € 9%
<t gk & R oft o 81w o=t =1 | SereRur & R fadY 3w &1 Ffor v Sevmufe & fmd e &t
ol 8, Afh-T a8t S 37 @il F il fa-=res ) wnfaa gian @ g 39 30 & Sl uivan | frweiRia foran
SITAT 81 ST SreT AN & R faepTa &Y SrerT et e il 81 3 e 39 aafa ot Right ot ufvfufa
F TR gl T 1 ISRV & R el g ov19t & iTq | ¥ a1ak St & R uaat Tge &1 9991 fawra gt
o g1 T8 gt 3R, feeht a1 gras # v aral fondY serht & o A<t Yo a1 e &1 591 e Bt
TPl 81 39 a8 A AP & VY d67 o1 oewd Usdl 8 R eiftre @ sif¥re @ & wraer uge 9|

wfa aafdy ama: forft A &t oot 3ma Y 98T B TS A T 3R wR S AR et 3 39 ufa safd smy
Fgd g1 a9 2006 B fay fawry Rué & AR URa ¥ ufq aafea AT M9 28,000 T 31 fawdt = o
ST F 3T B Hdl AP STG Hed o | fHd 32 & I oo omay & 4 frafa @ 817 areft sma 1



U™ & 91¢ Sl 9941 § S TP A URe SUIG $ed & | Uid 1000 11 H TH I $1 3U A Ugd WA a1 I Bt
= P FRIY Jg &R Fgd &1 T8 SiTpst fora1 w0 81 fiwra & ef¥wion d Ia-1 € 3rest1 a1 wrar 21 98 '
gyl AT 3 e o fpedt 3= ¥ Suetsy Ty giyursit @Y urawn ok SUstaT &1 udT Iaar 3 1 9
2011 B FTHIOFT F FAR YR F Y g7 o2 30.15 71 T3 3R ARen &7 srqurd: ufd 3ok goul ot
gor=T ® afgarsi $t w@mn o1 & srqurd Fed 1 afe ag SifesT &4 giar ¢ a1 I8 vara ¥ ufgensi & f@are
mm;m%ﬁm%l qd 2011 Ft STRIVFET & FFAR HRA | 7T U Uil goIR Goul &1 ga=m &
940 Hfgar |

ITYe TN H! TSP 1R U Y Y= BT IR Id13¢|

H: 93 g4l o1 i e fore faer = g o= gian 82
1. foramat & fow

2. 3ERAfaAt & forw

3. [Se% urelr ferar &

4. 9=¢ favarfoa g usar &

Correct Answer :-

16) #reqw & @ adt WWETe F6l For MFA AT & IdRA|

st oy & ot Fer aw A0 = @G Ag Fr g ARl

arger & o @@ AR S A FRET WX arel

St @er g ar Ta0 w A FRS Fa FeT fpsRe|

a1 TFE I3 FARA W A fag [ 1 S swi|

3reg Rgfdy @dt A & g@ dg 1 mz = REri

A Fal 31 ATQ @, §7 & o q0r FI0T AERH |

FIfeF T Faeld F 4 Fha F Foa R il

394Fd UEIRT H TGH A IS A q WA FT el qaqrsv|
vee: A FfA & w9 F qerolew & A Fa FEl QU WA A TR@ @AT 82
1. S & Us W

2. JHAT & & AR e &I 3Tl W

3. 3TH & 3Tl W

4. QW I reT W

Correct Answer :-

o THAT A & FAR dFed M 3T W



17) #y & & @@ wwEfa sw@l g9 Mg A F AR

st oy & a wer aw AN = Fa Fq fr 97 Agwa

ueet g & 9@ AR A S B eeT iR ane

St @er @ @ Ta0 wF MY FRD Fa FT A swE

a1 FHE HE FARIA W T fag @ 1 s swt

reg Rgfdy @dt A & g@ dq 1 15 = Rard

WA Fal g 3@ @, a1 F a1 anr agrer ARl

FIfeF T Fawld F 4 FHT F Foa IR ardl

3YYFA ISIIT HY TgHT Al & ST dTel G FT el IRV
W TG AT T H Yeaoied g1 O $1F 5w w0 & 97 Geaslern argar 82
1. #A

2. Th Bl

3. Tpel & TdTel

4. dIcRMe

Correct Answer :-

o Pl F TaTA

18) Ay & o adt WwEtw T@l a5 MFa Aia FTE|

st o & at Fer aw A = B Aq Fr o7 TR

ureet & at @ AR & ot R R R uwe

St @ & at @7 F BfF FA 7 w7 A swew|

1 TFE I3 FARA W A fag [ # afr sw)

3reg Refly et A & g@ dg &z = KRt

WA Fel 3o AT@T T, 757 & a7 907 I307 AR

Ffew v Fadla F g FT F Fora IR ARt

39T UCIRT H TGH A IS A q WA FT el qaqmsv|
WR: 3H Ffaar H Hfa F Fw 39 & 9 ra=h squr sFaa i §?

1. ¢

2. georEs
3. HISTQR



4, 39Y

Correct Answer :-

19) 7Y & At & wEw T6l g9 M AT F AR

sit oy @ @ e 9w A W fa A fr 9 T

uret @ at adr AR 1 o fRat eReT Raw awen

St gar & @ a0 F B TR 77 wa A sl

1 TS T FARA W T fag @ 1 afr swk

reg R 7at A & g@ @ A 7 W FErh)

WG Fal 3o AHT@T @, I F a1 qwr gzEr [AERi|

Ffew v Fadld F 4o FaT & Fora I art

39T UEIIT H TgH AT IF A qd WA FT el qa1svl
9eel: W Hfddr A A WEA A e T H 5y 5@ F gfFcgsa Far g2
1. had frdt oY TU & a5 A | Hr TR

2. el POUT & HlfeedT T ST

3. hadl IIHA & ufd 3A UH

4. 30 |

Correct Answer :-

20) @y &f &t @@ wwEfa w9l g5 Mg A F AR

st oy & @ wer aw AN = Fa Fq Fr o9 Agwa

ureet & at @ AR # ot R s R uwE

St @er g ar Ta0 wF MY FRD Fo FT A swe

T THE HE FARAT W T fag @ 1 s swt

reg Rgfdy @dt A & g@ de 1 s = Rard

WA Fal g1 3@ @, a1 F a1 9w g ARt

FIfeF T Fawld F 4 FIa F Foa IR ardl

3YYFA ISIIT HY TgH Al & ST dTel G FT el IRVl



WT: TF dFel AR FARAT W FF 79 F& Wom@ F F #7491 AR §2
1. 38 99" o ST U

2.3 § FIS AL

3. foed ag vt & wifeaey & ® ¥

4. T8 I8 ARd & T ITd

Correct Answer :-

« @8 g8 $oUT & FicAwT H T b

21) Ay g o T wat a6 g AF AT F TGRA

st oy & ot Fer aw A0 = BT Aq fr g AR

g gf At @@ AR 1 S RraY gRET TaT Ul

St @er g ar Ta0 wF MY FRG Fo FeT A swE

a1 FFE I3 FARA W A fag ) 1 afr swh

3reg Rgfdy @dt A & g@ de 1 a5 = REwi

WG Fal 3T @A Gl, I & a8 a1 d0T @Rl

FIfeF T Faeld F 4 FHa F Foa IR ariI

394Fd UCIRT H THT A IS S a TR H el qaqisyl
YeT: g Y AT WA FT Alwl el JTC A FA T @ Fosfer wFA 87
1. TSTHGS &1 @

2. 38 Ao & gU B

3. LA & g Pl

4. 3met fafg 3R @@t fafd & gu

Correct Answer :-

22) Ay g o @@ waErf T8 g AF AT F TGARA
st o & at Fer aw A = Ba Aqq fr o TR
ureer & A adt AR @1 S Rt e e uwe

St g & @ a0 F B TR 77 wa A sl
a1 TFE 3T FARA W A fag [ 1 afsr =wi|



3reg REfly adt A & g@ dg & mw = RERk

WA Fal 5 @A W, 797 & 7 a0r dser [AERi|

FfeF T Fodld F a7 FhaT F Foa 3R arIN

39T I H YGH AT IF A G WA FT el qaq1sv]

Uee: T $I HIceR AMAT aF & AT &Y Fad Fo@E Fa & IR &7
1. s & 97 @

2. ATCT-TAAT & UH Bl

3.9 #Agell B

4. 30T Il Wl

Correct Answer :-

. & sl P

23) @Y & @ @@ W T6@ 9 AFA AT F AR

sit oy & o e 9w AN W FF A fr o FAgwa

uret g at adr AR & s Rt eReT Rew awe

St g & @ Ta0 = B FAG 77 Fa A s

1 FFE T FARA W T g T A afer swf

reg R 7dt AR & g@ 5g A % W ARt

WG Fal 3o QT @, I F a1 qwr gzer HAERi|

Ffew v Fadld F 4o FT F Fora I art

39T UEIIT H TgH AT [F A qd WA FT el qaA1s0l
WeeT: Ffd F a7 & I, 997 AR areT F RS F S FA1 FROT 2
1. Ra & gfa g

2. 80T & gid 9H

3.8 & ufd uH

4. TH & gia TA

Correct Answer :-

24) @Y g A @@ e g6t g9 ME A F 7GR



st o & ot Fer aw A0 = BF dq fr o TR

aewt & & 9@ AR A S A sReT iR arE

St @ & @t AN F B TR 7 w7 A sl

A1 FHE HE FARIA W T fag @ 1 s swt

3reg fef aat fAf & g@ &g $r W FErii

WA Fal 3 AT@F T, 757 & a7 07 F3Er ARl

FRTF v Fauld & ao FAT & Forar I AR

3YYFA ISIIT Y TgHT Al & AT dTel G FT el I3Vl
weeT: FfF aer, vah Ak wes & w9 A o Feor 1 wfewew AT wreq FE Awwar 82
L3TH & PS5 A

2. 5T H @1 SITET oAy gl

3. 9N # @l SIEl EARI &

4. H%0T UF & Bia e off &7 & g1 I & e TEAT B

Correct Answer :-

o POUT OF H *fa fRdl off §T # g5 # & &1 deadr gl

25) Ay g o @t wwaf a6t o AFe AT & At

st o & ot Fer @@ A0 wF @G dq i o TaR)

urger & o @@ AR 1 S A FRET WX awAl

St @er g @ Ta0 wF MY FRD Fo FeT A swE

a1 FFE I3 FARA W A fag ) 1 afr sw

3reg Rgfly @dt A & g@ de 1 1z = RaErt

A Fal 31 A QT @, 7 & a1 a7 FI0T AR |

FIfeF T Faeld F 4 Fha F Foa 3R aril

39T UCIRT H TGH A IS A q WA FT el qaqnsv]
yee: Hfa fFg A F v A=t i F1 T st B F AR 22
1.3 § PIE T

2.5 & aqd 3 & forw

3.y, © 3R HAFwa & T

4, 7Tl T S IR hFerel & forw



Correct Answer :-

o TATAT T TS 3R PFad & fow

26) Ay & @@ WA a6l g Mg AT F AR

st oy & & FEr aw AN = A Fq fr o7 AgwE

areer @ @t @@ AR A S R eReT [Wex uRe

St g & @ @0 F B TR 7 wa A sl

1 TFE T FARIA W T fag @ 1 afr swt

eg R 7at @ & g@ &g A 7 e FErh)

WG Fal 3o @ @, I & a1 awr G3Er HERi|

FIRF T Favld F a Fha F Foa IR aril

39T UEIIT H TeH AT B A q ToA FT el qaq1g0|
weT: U< AfEl ¥ FF FE AT F Naa 1w RS W@ awdT §2
1. ST & UST @

2. 3T T 9T &l

3.9 & g7 3Ude 3R drelrel &l

4.®¢d & Ug Bl

Correct Answer :-

e ST & I 3Uad 3R aramEr

27) Ay g o @ wat a6t g AFe qAT F 7GR

st o & ot Fer aw A0 = BT dq Fr g TR

gt gf At ad AR 1 S RraY gRET TaT Ul

St @er g ar Ta0 w MY FRD For FeT A swE

a1 TFE I3 FARA W A fag ) # afr sw

3reg Refdy @dt A & g@ de 1 1z = RaErd

A Fal 31 QA @, §o7 & qF a7 F30r AR |

FIfeF T Faeld F 4 FhaT F Foa 3R ardl

394Fd UCIRT H TGH A IS A q WA FT el qaqmsv]

W I 39T FAH H g g af Ffa fFE 9dd FT IR g grgar 87



1. M
2. [dearae
3. feaTerar
4. 3TN

Correct Answer :-

28) w1y g O @ T FW@ g MF AT F AR
st o & at Fer 9w A = B dqq Fr o TR
ureet gt @ 3@ AR A S Rt eRew Tiew awe

St @ & at @7 FA B FAY 7 w7 A swe|

a1 TFE I3 FARA W A fag @ # afr sw

3reg REfly a7t A & g@ dg & Mz = RErd
WA Fel 3o ATQT T, 957 & a7 I097 I307, [AERk)
Ffew v Favld F g FAT F Fora IR artl

39T UCIRT H GGHT AT IS Sl ad WA FT el qaq1sv]
yeeT: ‘FIfAAr Fel Hea T SR A HleT-AT1 HeHT 82
1. 303

2. 3iITH

3. §UD

4. 3cUeT

Correct Answer :-

29) Ay & @ @@ W F@ 9 AFA AT F AR
sit oy @ @ e 9w A A Fa A fr o T
uret g at adr AR w1 o fRat eReT Raw awen

St gor & @ a0 F B T 77 wa A sl
1 TFE T FARA W T fag @ 1 afr swk|

Ireg R 7at A & g@ 5 A M7 e FErh)



WA Fel 3o AT@T T, g7 & a7 9097 I307 AR

Ffew v Favla F g FT F Fora IR ARt

39T UCIRT H TGH A IS A q WA FT el qaqmsv|

W ‘FF T Fadla F 4 FhT & Foa IR IR F FAT AGAT 2
1. Potel P T

2. T & Ppait A BU SEA |

3. poadld H T§ o9

4. g1 T Pieer Al & fow 7 G Azl o Y PoR FT &
Correct Answer :-

« ST &7 PieER AT & AT 7 & Al A i [eEw w A

30) A & ot @@ waa qu@l a9 MFe Aq F AR

st o &f at Fer aw A = Ba Aq fr o Ao

ureer & A adt AR 1 S Rt e qiew uwe

St gor & @ 90w B TG T Feg A s

a1 TFE I3 FARA W T fag ) # afsr =wi

3reg Rgfdy wdt @A & g@ e 1 a5 = ERi

WG Fel o AR &Y, IT & T G097 AT Q@R |

Ffew v Fadld F 4 FaT & Fora R art

39T YT H TGH A B A G WA FT el qaq1sv]
yeat: ‘St o & A FEr T@ A W WG F O AT ¥ FO A §?
1. If& gy & a AFUR H Tl

2.3f¢ uy & a d¢ F W W

3. 97 UY b ®A A YeAoicd @ dl &g &l amal & & W
4, M A RE Gd R Fl

Correct Answer :-

- If gy & ¥4 F gAoleH & a dg H I F WA W

Topic:- General English(L2GE)



1) Fillin the blank with the correct option in the given sentence:

The heart-- news cheered me up

1. --ening
2. --ened
3. --ed
4, --ily

Correct Answer :-

2) Fill in the blank with the correct option in the given sentence:

By giving wrong advice, Peter had --led me.
1. mis--

2. ill--

3. over--

4, out--

Correct Answer :-

3) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority of insects
have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the mandibles are the maxillae,
which serve to direct food into the mouth between the jaws. A labrum above and a labium below are similar to
an upper and lower lip. In insects with sucking mouth parts, the mandibles, maxilla, labrum, and labium are
modified to provide a tube through which liquid can be drawn. In a butterfly or moth, the coiled drinking tube
is called the proboscis. Composed chiefly of modified maxillae fitted together; the proboscis can be extended to
reach nectar deep in a flower. In a mosquito or an aphid, mandibles and maxillae are modified to sharp styles
with which the insect can drill through surfaces to reach twice the length of its body. In a housefly; the
expanding labium forms a sponge like mouth pad used to stamp over the surface of food.

According to the passage, the word ‘proboscis’ refers to:

1. Nectar



2. The food tube constructed of modified maxillae
3. A kind of flower

4. A kind of butterfly

Correct Answer :-

e The food tube constructed of modified maxillae

4) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.

His voice was heard: It told his tribe
To leave this sun-cursed hill.

They went, and left his dwelling here.
They went; it was his will.

Who piled these stones knows when he comes
And where he stays until

According to the poem, what did the tribe leave behind?
1. Stones

2. Pious nature

3. Evil

4. God’s dwelling

Correct Answer :-

e God’s dwelling

5) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.



His voice was heard: It told his tribe

To leave this sun-cursed hill.

They went, and left his dwelling here.

They went; it was his will.

Who piled these stones knows when he comes
And where he stays until.

What is the poet describing in the given lines?
1. Atemple with a god in it

2. A temple full of devotees

3. A temple made of cement

4. An abandoned temple

Correct Answer :-

¢ An abandoned temple

6) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.

His voice was heard: It told his tribe
To leave this sun-cursed hill.

They went, and left his dwelling here.
They went; it was his will.

Who piled these stones knows when he comes
And where he stays until.

How many different living creatures are mentioned as occupants of the abandoned place?
1. Two

2. One

3. Three

4. Four

Correct Answer :-

« Two



7) Read the following lines of a poem and answer the question given below it.

The god is gone. His cave is bare.

In shadow from the sun

The clotted bats hang from the roof.
Below, the scorpions run

And pious folk no longer come

Lest evil should be done.

His voice was heard: It told his tribe
To leave this sun-cursed hill.

They went, and left his dwelling here.
They went; it was his will.

Who piled these stones knows when he comes
And where he stays until.

According to the poem, why is His cave bare?
1. Because god has left the temple.

2. Because hot sun makes it impossible to stay.

3. Because bats reside in it.

4. Because the hillis cursed.

Correct Answer :-

e Because god has left the temple.

8) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority of
insects have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the mandibles
are the maxillae, which serve to direct food into the mouth between the jaws. A labrum above and a
labium below are similar to an upper and lower lip. In insects with sucking mouth parts, the
mandibles, maxilla, labrum, and labium are modified to provide a tube through which liquid can be
drawn. In a butterfly or moth, the coiled drinking tube is called the proboscis. Composed chiefly of
modified maxillae fitted together; the proboscis can be extended to reach nectar deep in a flower. In
a mosquito or an aphid, mandibles and maxillae are modified to sharp styles with which the insect
can drill through surfaces to reach twice the length of its body. In a housefly; the expanding labium
forms a sponge like mouth pad used to stamp over the surface of food.

Insects are classified by
1. the environment in which they live

2. the structure of their mouth



3. the food they eat

4. the number and type of wings they have

Correct Answer :-

e the structure of their mouth

9) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority of
insects have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the mandibles
are the maxillae, which serve to direct food into the mouth between the jaws. A labrum above and a
labium below are similar to an upper and lower lip. In insects with sucking mouth parts, the
mandibles, maxilla, labrum, and labium are modified to provide a tube through which liquid can be
drawn. In a butterfly or moth, the coiled drinking tube is called the proboscis. Composed chiefly of
modified maxillae fitted together; the proboscis can be extended to reach nectar deep in a flower. In
a mosquito or an aphid, mandibles and maxillae are modified to sharp styles with which the insect
can drill through surfaces to reach twice the length of its body. In a housefly; the expanding labium
forms a sponge like mouth pad used to stamp over the surface of food.

It may be concluded that the purpose of this passage is to:
1. Complain

2. Persuade
3. Entertain

4, Inform

Correct Answer :-

e Inform

10) Choose the appropriate pronouns for the sentence given.

After an hour, the flight attendant announced that had reached ___ destination.
1. them, their

2. us, our

3. we, ours

4. we, our

Correct Answer :-



11) Fill in the blank with the correct option in the given sentence:

The ______ given by the students did not hold water in the long run.
1. referees
2. referred
3. referring

4, references

Correct Answer :-

« references

12) Fill in the blanks with the appropriate conjunction.
Iwin____ lose, I will compete the race.

1. Whether, or

2. As, whether

3. Neither, or

4. Either, neither

Correct Answer :-
o Whether, or

13) Which of the following options best combines the following sentences?
He finished his work. He went home.

1. As he finished his work, he is going home.

2. He went come before finishing his work.

3. After finishing his work he is going home.

4. Having finished his work, he went home.

Correct Answer :-

» Having finished his work, he went home.

14) Choose appropriate articles for the given sentence:



Kitty got ___ best present ever on her ____ fortieth birthday.
1. an, the

2. the, no article required

3. no article required, the

4. a, no article required

Correct Answer :-

« the, no article required

15) Choose the appropriate option that rewrites the given sentence in its active voice.

When he arrived home he was arrested by the police.
1. When he will arrive home, the police will arrest him.
2. When he arrived home, the police arrested him.

3. When the police arrested him, he arrived home.

4. Police arrested, when he arrived home.

Correct Answer :-

« When he arrived home, the police arrested him.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

I was filled with elation when I passed the exam with a first class.

1. satisfaction
2. joy
3. pride

4. consolation

Correct Answer :-

17) Choose the appropriate tenses to fill in the blanks in the given sentence:



I cannot begin the dress, until my mother it for me.
1. sew, cut

2. sewed, has cutting

3. sewing, cuts

4. to sewing, will be cutting

Correct Answer :-
e sewing, cuts

18) Choose the appropriate antonym for the highlighted word in the given sentence.

John maintained a brilliant service record which helped him to become the manager of our company.
1. consistent

2. obscure

3. shining

4, radiant

Correct Answer :-

e obscure

19) Choose the appropriate prepositions for the given sentence:

He was standing the door and listening attentively the voices

1. behind, through, outside
2. back of, to, inside
3. between, for, from

4. against, to, within

Correct Answer :-
e against, to, within

20) Choose an appropriate modal for the given sentence:



Rashmi drive but she does not have a car.
1. cannot
2. might

3. shall

4. can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:
I want to see the colour of his money before I say the car's his.

1. make sure that he pays for it

2. make sure that there are no counterfeit notes in them

3. make sure that he has no black money

4. enjoy profits

Correct Answer :-
* make sure that he pays for it

22) Choose the option that best transforms the sentence into its Indirect form:

Tom says, ‘Mother, can you sew this button for me, please?’

1. Tom asked his mother if his mother could sew that button for Tom.
2. Tom requested his mother if she could sew that button for him.

3. Tom requests his mother if she can sew that button for him.

4. Tom pleaded his mother if she can sew that button for me.

Correct Answer :-

e Tom requests his mother if she can sew that button for him.

23) Choose the option that substitutes the given phrase appropriately.



The time after twilight and before night
1. Evening

2. Sunset

3. Dawn

4. Dusk

Correct Answer :-

24) Read the sentence carefully and choose the option that has an error in it:

We use a converting table to change miles into kilometers.
1. converting table

2. No error

3. Weusea

4. to change miles into kilometers.

Correct Answer :-
e converting table

25) Change the given statement into direct speech.
He said that he would be in Delhi the next day.

1. He said I will be in Delhi tomorrow.

2. He said, “I would be in Delhi tomorrow.”

3. He said, “I will be in Delhi the next day.”

4. He said, “I will be in Delhi tomorrow.”

Correct Answer :-

o He said, “I will be in Delhi tomorrow.”

26) Fillin the blank with the most appropriate preposition in the given sentence.

Did you hear the major accident that happened last night?



1. before
2. about

3. across

4. beside

Correct Answer :-
e about

27) Choose the most appropriate determiner in the given sentence.

______of the film was worth watching though a bit of it was drab!
1. Each
2. Few
3. Both

4, Much

Correct Answer :-

e Much

28) Read the following passage and answer the question given below:

Features of the mouth parts are very helpful in classifying the many kinds of insects. A majority of insects
have biting mouth parts or mandibles as in grasshoppers and beetles. Behind the mandibles are the maxillae,
which serve to direct food into the mouth between the jaws. A labrum above and a labium below are similar to
an upper and lower lip. In insects with sucking mouth parts, the mandibles, maxilla, labrum, and labium are
modified to provide a tube through which liquid can be drawn. In a butterfly or moth, the coiled drinking tube
is called the proboscis. Composed chiefly of modified maxillae fitted together; the proboscis can be extended to
reach nectar deep in a flower. In a mosquito or an aphid, mandibles and maxillae are modified to sharp styles
with which the insect can drill through surfaces to reach twice the length of its body. In a housefly; the
expanding labium forms a sponge like mouth pad used to stamp over the surface of food.

What does the author compare labrum and labium to?
1. Mandibles
2. Maxillae

3. Length of the body



4. Upper and lower lips

Correct Answer :-

e Upper and lower lips

29) Choose the right tag:

She underwent surgery last week, ?
1.isn't she

2. didn't she

3. did she

4, hasn't she

Correct Answer :-

e didn't she

30) Read the sentence carefully and choose the option that has an error in it:

Mr. Shimoto was planning to send to me a package from Japan as soon as he arrived home from his
trip to Hawaii.

1. to me a package from Japan
2. as soon as he arrived from his trip to Hawaii.
3. Mr. Shimoto was planning to send

4. No error

Correct Answer :-

» to me a package from Japan

Topic:- Social Science (SSC)

1) Who said that, ‘But in the long run, it would be in the interest of all to forget that there is
anything like majority or minority in this country and that in India there is only one community’. /

e waT %, "Afe &a Twg ¥, g8 Yo aft & fa & g1 i 39 331 o agua a1 seuviers okl 318 i
? 3R HRd # Had TP YA &'

1. Abdul Kalam Azad / 3fegdl ShcliH TSIl



2. K. M. Munshi / &. @&, #ft
3. Ayyangar / 3TI9R
4, Sardar Vallabhai Patel / TR ded¥lS Ued

Correct Answer :-

o Sardar Vallabhai Patel / TRER deoldls o
2) The cycle of micro teaching is: / ?Fl13'9b°f afear (q&H fﬂ'&TUI') I Tsh %: -

1. Plan — Feedback — Teach — Re-feedback — Reteach / JNSTaT - Qﬁ@ — fregor — gﬁ:m -
geAfRYaToT

2. Teach — Feedback — Reteach — Plan — Re-feedback / T1870T — Qﬁ@ - gﬂfi"r&:l'UT - 7T —
gFf: 9] iag E:

3. Plan — Teach - Feedback — Re-plan — Reteach / e - fRyagor - uﬁg@ - Ezl'iﬂGFIT - Eﬁﬁf&‘l’UT

4. Teach — Reteach — Feedback — Re-feedback / TRI&UT - g?rfﬁf&rw — gfagfy -
g0y

Correct Answer :-

o Plan— Teach - Feedback — Re-plan — Reteach / TSI - TRI&f0T - m - W - m&‘m

3) Who is the exponent of Project method?¥ TR fafer Frafades Sia g2
1. F. Froebel / UG, thidel

2. D.W. Allen / 1. 3ecg, Teldd

3. John Dewey / STfeT SIdr

4. W.H. Kilpatrick / 3eeg.vd. foherdices

Correct Answer :-
.« W.H. Kilpatrick / eeg.0d. [herdfcsn

4) Which of the following discriminatory taxes did Emperor Akbar abolish in 1564 ? / 1564 &

FaAe IFR A famafaf@a & & frw demaget &1 # warca s Rar an
1. Kharaj / 9IRS

2. Zakat / SibId



3. None of the above/armjaaﬁ@rﬁé:lﬁf

4. Jizya | SIfomT
Correct Answer :-
. Jizya / Sfomn
5) Consider the following matches:
1. Ashtapradan Maratha Empire
2. AshtaDiggaja Vijavnagar Empire
3. Navaramma Harsha
4. Local Self Government | Chola

[ e A9 W R w3

1. Heequ TS HEHTT
2. FeerTA AT HHATTT
3. wated Gkl

4. TUFE FE FEER | O

1. Only 1,2 and 4 are correct / hael 1,2 31X 4 &I &
2. Only 1 and 3 are correct / &had 1 3R 3 & &
3.0nly 1,2 and 3 / &aal 1,2 3R 3

4, All are correct / g T &

Correct Answer :-

« Only 1,2 and 4 are correct / &ad 1,2 3R 4 T &



Match the Following rulers with their capitals:

1. Maurva | A Mathura
2 Pallava B._Pataliputra
3. Chalukva | C. Kanchi

4 Kusana D). Badami

| TAITEd TS &l 3dchl UATAA!l o Gl fHed &
1. #@F | A AW
2. 9eold B_qmga’

3. =T C. ShI=r
4. uToT D. digHT

1. 1-A,2-B,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-B,2-C,3-D4-A
4. 1-C,2-B,3-D, 4-A

Correct Answer :-
« 1-B,2-C,3-D,4-A

7) is a scoring tool created for assessment of student’s performance in any area,
including curricular subjects, curricular activities, and social and personal qualities. /

_ it oft S d o & ueRA & erwad & e a=man wan whieT g 8, o ureusy faw,
TreuTat wash TRARRT ik GrEE T safdmre o aife

1. Rating Scale / {1 Fhel

2. Rubric / ®fgem

3. Credit Consideration / shfS¢ 32T
4. Excel / ToFiel

Correct Answer :-

« Rubric / &fg®

8) The English East India Company was abolished in the year
o U HR fear mar uti

1. 1859

2. 1860



3. 1858
4. 1867

Correct Answer :-

« 1858

9) The lowest level of learning in cognitive domain is: / JJTHTHD A # Siftnm o1 fFrgaw @R %: -
1. Knowledge / <1
2. Understanding / HHS

3. Creation / ol

4. Application / HWT

Correct Answer :-

o Knowledge / ST

10) People’s Plan was advocated by whom? / SI9eH CHTel @1 defela f®as qanr @1 a5 o
1. Mahatma Gandhi / FSTcHT MY

2. Narayan Agarwal / TRTIUT 3{Idlel

3. Jayaprakash Narayan / STOURIRI ARTIOT

4. M. N. Roy / UH. T. IT

Correct Answer :-

« M.N.Roy/T&d. od. T

11) Select the correct statement.

1.Champaran Satyagraha was the first Civil disobedience Movement under leadership of
Mahatma Gandhi.

2. This Satyagraha was against the exploitation of tenant farmers in North Bihar.
TE FYUA FT TIA H.

1. IRV HATIE AFTeAT M & Aded H ggelm WRA=T e Qe il

2. I% AWE 3W R # FRRER FFaE! & aivor & f@ere ol



1. 1 and 2 both are correct / 1 3R 2 ST el ©
2. 1 and 2 both are wrong / 1 3R 2 gi4T el &
3. Only 2 is correct / haol 2 Tel %
4, Only 1 is correct / hdol 1 TeT &

Correct Answer :-

« 1 and 2 both are correct / 1 3 2 AT Hff %\'

12) When was UN Commission on Human Rights established? / ¥JFd Isg AWafOsR 3makr $
FIIYT e 87

1. 1946
2. 1950
3. 1949

4, 1948

Correct Answer :-

« 1946

13) In which year was the Reserve Bank of India established? / ¥Rl Req dF A FU9=T
fFg a¥ & i 7€ oA

1. 1946
2. 1935
3. 1950

4, 1949

Correct Answer :-

e 1935

14) In 1837 who deciphered the brahmi script referring to ‘Devanam Piyadasi’ the epithet used

for celebrated monarch Ashoka? / 1837 ﬁ', ﬁFG’Iﬁ' A fof # T gaI 3w & v
gAter &Y € I aaAERT Raeedl’ w1 34 [



1. None of the above / 3Udh H & PIS el

2. Alexander Cunninghum / 3Teldoiel Hiad

3. James Prinsep / S0 AT

4. V.A. Smith / d.T. &HY

Correct Answer :-

« James Prinsep / Sio® U@T

15) Who established Mukti Mission for young women in Pune? /g'@l' £ ) gﬂﬁ'ﬂ’l’ ¥ fav ﬂ'ﬁ-_cl'
e i TyTIeT e 12

1. Jyotibha Phule / STTIHT el

2. Pandita Ramabai / Gf$dT umné

3. Ishwar Chandra Vidyasagar / $4% dg faamamR
4. Savitri Phule / ATl Fol

Correct Answer :-

« Pandita Ramabai / GfScT Tﬂ'lﬂ'lé

16) Who has the power to dissolve the Lok Sabha even before the expiry of its term on the
recommendation of the Prime Minister? /

TaEHAT F RAERT | FREAFE AT g § Tga & dFas F 6T X i afead frasd o gt 82
1. President / Trgafa

2. Speaker / 31eg87

3. Cabinet / #AFHAS

4. Supreme Court / Fafea =gramerd

Correct Answer :-

o President / Trgufa

17) Earlier Pallavas were feudatories of which dynasty? / Ugel Tedd ¥ g & AT A?

1. Satavahanas / HIddlgd



2. Cholas / Tl
3. None / Ehélé el

4, Kusanas / ?flSITUT

Correct Answer :-

o Satavahanas / HTddlige

18) Saptanga Theory of State was propounded by which of the following texts? / T T
Fearr Rguia RArafaf@a & & e 7o q@rr vl e o ar?

1. Rajtarangini / It (70T
2. Arthasastra / 3TIT&

3. Manyusmriti / ?F@"v?{ﬁ

4. Raghuvamsam / T‘cIETQl?:[

Correct Answer :-

« Arthasastra / 37J2mM&

19) Under which Act of the Government of India the unfair trade practices are included? / IRd
R ¥ 5 sftfaws & qga sqRa@aTRgE ST T = @2

1. Money Laundering Act / el dlifeger sifafager
2. MRTP / THIRE

3. FEMA / %aT

4. FERA / &1

Correct Answer :-

« MRTP / THAIREUY

20) Under which dynasty did the Mathura School of Art prosper? / & @ & dgd HYO
Feom fggrer wHEy gIm?

1. Kusana / puTUT
2. Gupta / &



3. Sunga / QIJT

4. Maurya / ;T

Correct Answer :-

e Kusana / PUIUT

21) The individual has the right to approach the Supreme Court or High Courts for the

protection of his/her Fundamental Rights as they are ./
fordlt cafda &1 3w FAlfes ARASERT N qRan F T Fafer A=A A1 3T A A TgES FT
IFR ¢ FIfF gl

1. Accessible / 3
2. Justiciable / =arfRa
3. Justifiable / a&era
4. Affordable / agira

Correct Answer :-

« Justiciable / =mrfRa

22) The formed as the basis of the Second Five Year Plan aimed at promoting regional

equality. / 891 FHATTAT H o1 & F 3qaW, 8 Gfacd GATHT AT F HUR W
&1 T5aT T aram|

1. Industrial Policy Resolution 1948 / e AT gwea 1948
2. Industrial Policy Resolution 1951 / 3itafaies Aifd dwed 1951
3. Industrial Policy Resolution 1956 / 3itafaIes Aifd Hded 1956
4. Industrial Policy Resolution 1977 / 3ifafaes Aifd dweq 1977

Correct Answer :-

« Industrial Policy Resolution 1956 / s Aifa Iweu 1956

23) Which was the first state to adopt Panchayat Raj System in India? /
HRA # 99Id TS YOSl H) HYA aTeT Ggall I HisT AT AT?

1. Maharashtra / #ERTE



2. Madhya Pradesh / &% ueer
3. Rajasthan / {TSTEATA

4, Andhra Pradesh / 3% ueer

Correct Answer :-

« Rajasthan / TTEATA

24) Which is not a step in Discussion method? / frafaf@a & ¥ a1 ==t R{fYr #1 v =@=or

TR §?

1. Allocating responsibilities for the conduct of a discussion / Teh UR=rdT & HaTel & Torw
SrFAEIRAT &1 3mded

2. Working together to find ways of solving the problem / FHEIT &l ol it th Al Wlolel o folT
fRCIRT BTH AT

3. Locating and defining problem of common interest and significance / ATHATT ¥ 3R dAgca &
FHET T TdT TIAT IR TRATS AT

4. Finding final solution for the problem / HHI Pl ST B 1T B

Correct Answer :-

. Finding final solution for the problem / JHXI BT AT 8¢ T Bl

25) Which Veda contains Gayatri Mantra? / &% ag #A M AeF gATRed €7
1. Sam Veda / 9TH d¢

2. Rig Veda / FIdg
3. Yajurveda / ?J@ﬁ?.‘(

4. Atharva Veda / 3Uddg

Correct Answer :-

« Rig Veda/ Ide

26) Which is the most important primary source for the study of Indo Greeks? /

g3 gt & Irewye & fAv §a@ Agcaqet wufAw @a Fla @ 32

1. Monuments / EAR



2. Inscriptions / freTer@
3. Coins / T8
4. Literary Texts / Olfelcded JT

Correct Answer :-

« Coins / ek

27) Which of the following combination plays significant role in the increase of population /

fmafaf@a & @ wla w1 ¥aee SeaEar #1 g F Ageaqet sffer e @
1. Low Death Rate and High Birth rate / fae<1 #§cg &X 3R 39 Sled &
2. Low Death rate and Low Birth rate / a1 HqHcg T IR AF Sed R
3. High Death rate and High Birth Rate / 3% #cg X 3R 3=9 Sfed &
4. High Death rate and Low Birth rate / 3T Hcg &I IR A e R

Correct Answer :-

« Low Death Rate and High Birth rate / &&= g ol 3R 3Td oA

28) Which of the following is a brainstorming question? / fA+afaf@d & ¥ 30a% gﬂ:@' 9T Y

qgdT S

1. What suggestions would you offer to protect forests in the country? / G H Il bl T&IT &b forw 37T
T G ST

2. Explain the concept of “Forests™? / “TaAl” I AR T TITEAT HY?
3. Give five uses of forests? / Il e U ST IATT

4. Describe the forests of Madhya Pradesh? / 3 USRI o STl &bl ol &

Correct Answer :-

« What suggestions would you offer to protect forests in the country? / T 3 a1 T Y81 &b forw 3T
T G Ga1?

29) Which of the following is not an objective of group discussion? / AT @d & & Fa1
gRerat aog &1 v 3T A B2

1. Promoting self-study / TI-31€ITA I I&TdT el




2. Encouraging creative thinking / Tdellcdch AT Bl WcHTRd AT
3. Stimulating reflective thinking / fdd=1efter ia= & 3afard &
4, Testing previous knowledge/ ﬁ%ﬁ RIGKcd) Uﬁ&rUT DAl

Correct Answer :-

« Promoting self-study / TT-37CT T Bl TSTAT Gl

30) Which of the following texts discuss paintings / murals? / %7 & & sla-ar s ==t /
ffr REt fr ==t Ftar 2

1. Vishnu dharmottara Purana only / hdel ﬁl’GUI TATIT gToT
2. All of these / 3UJh TH

3. Shilpa Sastra only / hael freur e

4. Kashyapa Shilpa Sastra only / hdol HIT fAeur AT

Correct Answer :-

« All of these / FEPiT-F AT

31) Which of the following does not apply.to.a Social Science text book? / Pf@a I T
AT 11T i U 6T JEa® 9N AT Aol olane?

1. It is a document to be memorized. / I& JTE, TWe! dATAT Uh STl &

2. It is an instructive document creating scope for further reading. / I Tdh TAETIVG Gl © SIT 31mar
UGel & I[SATSA UeT T &

3. It is perceived as a dynamic document. / 38 Teh ITTARMTel GEATAST & ®T H HATAT ST &

4. Tt is applied for the welfare of mankind or for the destruction of humanity. / I& HTd ST b
HeATOT & TorT IT ATAGAT & TAATL b Torw A9 foham ST B

Correct Answer :-

« Itis a document to be memorized. / T& T (W ATAAT Uh GEATA S ’g\'

32) Which of the following is the technique of collecting all sorts of necessary information about
a child with a view to studying and solving his deep-rooted problem? / U STd &Y gL HISeTS
g e 1 Feufar & Tt 7 3w vy & wsfh srforare Yaan? v & & awells feafaf@a
AAFATE?



1. Case study / &b 37€TI

2. Experimental study / T9TTcHeD T

3. Qualitative study / I[UTTcHED HETTA

4. Quasi experimental study / 374 UTAITATeh 31T

Correct Answer :-

« Case study / egTh 37eTg

33) White revolution is associated with JuRawfa @ gefaa g
1. Salt / dHA®

2. Sugar / 91T

3. Milk /g4

4, Rice / I1del

Correct Answer :-

34) Under which movement the rich landlords/farmers were asked to donate a piece of land to the
landless people? /

frer meesr & dga IR Feflert / frart 7t fadier delt F ST F1ooF S o A & AT Far
I

1. Bhoodan movement / gl 3fialclet

2. Cooperative movement / TERIRAT Higielel
3. Consolidation of land / f& T TehTeIoT
4, Chipko movement / fIge! 3ficrele

Correct Answer :-
 Bhoodan movement / gl 3Tiglele

35) Choose the conventional sources of energy. / FaT & RGN Hal 1 AT

1. Natural gas / UTpfde 3
2. Solar energy / | Zatl



3. Bio-energy / Sta Fair

4. Wind energy / 9ael Sl

Correct Answer :-

« Natural gas / Uipfde 3T

36) Whose assent is necessary in the enactment of a bill into law? /
s #t w1 § s F@ § Fedh geafa sraas @d 32
1. President / Trgufa

2. Supreme Court / 3TIdH I—ATIT

3. Prime Minister / TTAHIT

4, Parliament / §8<¢

Correct Answer :-
e President / Irgufd

37) Which Commission emphasized that for solving the diverse socio-cultural problems of the modern
world, social sciences have become a significant part of formal and non-formal education of the modern
world? /

e e & 9 a9 W SR R & smyfae g i Rfar smSe-acsos aaeanit # ga & &
fore, aenfas e sryfas gfaar i sitafe s sasitoaRe Ren &1 wF Agcaqet Rewr o mar 82

1. University Grants Commission / fqfaarer 3ieare 3manan
2. Delores Commission / SeRE 31T
3. National Knowledge Commission / ITEIT ATl 3TAET

4., Commission on Higher Education / 3Ta {1 3maar

Correct Answer :-

e Delores Commission / el 3T

38) society is characterized as a male-dominated one. / AT F HW-9UE F w0 H Ry
R e g

1. Patriarchal / O&dTcAS
2. Matriarchal / ATHATCHD



3. Familial / arRamie

4, Gregarious /HgARY

Correct Answer :-

o Patriarchal / TUg&dTcHS

39) The World Trade Organisation aims at ./ faeT MR HIST FT 3582 F gl
1. Encourage embargo / TITAR-UfAIY &l Uicdifed e

2. Promotion of imports / 3TTd &I deram el

3. Free trade / fa¥:Q[eeh <A

4, Restrictive trade / I IR

Correct Answer :-
« Free trade / T4:3[esh &MU

40) The Fundamental Rights in the Constitution were described as a pledge to our people and a pact
with the civilized world by ./

afaure F #fos sftwRt GaRT W8T gfadn & g FAEglar 3R gAR A F A gfawr F w0
# aftta far I i

1. Dr. Rajendra Prasad / 21. Toieg 9dIG
2. Dr. S. Radhakrishnan / 21, TH. JYTHE0TA
3. T. T. Krishnamachari / €1. &Y. $HSOTHARY

4, Sardar Vallabhai Patel / TR dod¥l #S Ued

Correct Answer :-

e Dr. S. Radhakrishnan / 1. TH. ITYTHTUTA

41) An example of a meteorological instrument is: / aquvs?ﬁu SUDBRUT DT Th 3qIgr 0l
gl

1. Foot rule / IGRE:
2. Prismatic compass / TSI Haarg

3. Tripod poles / TISUIS UIeT
4. Centigrade thermometer / HEAS AT



Correct Answer :-

« Centigrade thermometer / HEIIS AT

42) Who among the following built the Qutub Minar at Delhi? / feed & Fga HHR &1 fFAmfor
frfafaa & 9 fea o= ar

1. Qutb-ud-din Aibak / $ds-3a-aH U§H
2. Akbar / 3/HaR
3. Shah Jahan / RTgwigl

4, Khizr Khan / fas @t

Correct Answer :-

. Qutb-ud-din Aibak / $Ja-3&-4I9 UadH

43) To teach a lesson on the boundaries of the country, states and districts, the teacher uses
which of following maps? / 91, Il 3R foral &t Wi R T ute Ue[ & forg, g g A
o wrAfE &1 SuahT Svar 82

1. Physical maps / &ifcie FAATI

2. Relief maps / 3dldd AATAS

3. Specialized maps / AT AT

4. Political maps / TSI [cleh HATATIT

Correct Answer :-

« Political maps / TSI T AT

44) Which of the following statements cannot be considered a characteristic of learning? /

fAmfaf@a & & e Faa F 3o i AAvar ad A= s Fwar 2

1. Learning is limited to educational institutions. / 37Tera QAeTiOTer TEATAT deop AT %I

2. Learning is a lifelong process. / 3TTQ9TH Teh 3Tl UTehaT &l

3. Learning influences all aspects of behaviour. / 3faTa gde & g CI%T:@ﬁ P g HIar ?\-I

4. Learning depends on physical growth and mental maturity. / 31977 QMR Tadmra IR AAREF
aRueradr IR fAeR e & |

Correct Answer :-



« Learning is limited to educational institutions. / 37Tera QAeTiOTer TEATAT deop AT %I

45) The loan facility provided to the farmers for the development of agriculture is known as ./

F & Rew & v Fae! s geae § J@ arel 7or glau # ¥ 9 # FAE AT T
1. Rural loanable funds / JIT#I0T 0T I Y

2. Rural credit / IT#AIOT K0T

3. Rural development / JTHIOT fara

4, Rural advance / Jmefior 37fa

Correct Answer :-
o Rural credit / ITHOT FHOT

46) Which among the following soil type has a property of holding moisture for the release of
plants during the dry period? / FafafEa & @ g frdl & yoR o I @l & SR MY &
forfoe & forg emsdar «RuT w5 &1 qured giar 82

1. Lateritic / ﬁ?TI?{c'I
2. Red / ©ITel

3. Black / @TelT

4. Alluvial / STelle@

Correct Answer :-

« Black / &Teil

47) The students ability to organize, integrate, synthesize and evaluate knowledge is known
through which of the following types of test? / BT & JH $! YHARId, THIPHd, WA 3R
qeifed B3 3t gigar FEfafad F 59 yor & wdienr & ureny I 99 $f 9 82

1. Objective Type / 32T UHR
2. Short Answer Type / ©f 30X UhR

3. Multiple Choice Type / aﬁiaaﬁvdl UhY

4. Essay Type / IGELRCCEY

Correct Answer :-

« Essay Type / fad9 gaR



48) The step that is not a part of project method is: / a8 IRUT &l uf¥arerT fAft &1 fgwar g @:
1. Selection of capital / TETUAT BT TIA

2. Executing the project / TRITSTAT &l fATUTiG T haA

3. Providing situation / AT UTe AT

4. Evaluation of the project / GRS &1 HedTh

Correct Answer :-
« Selection of capital / TETUAT T TTA

49) A famous palaeontological hoax related to the finding of the remains of a previously
unknown early human known as Piltdown Man was found in which of the following

countries? / IS A9 & ¥ & WM oM 9T Ugd 3(FTd URFUS W4T & GRu] &1 Wi I
Tefa ue ulg SharflRae i gied (da=< arsied aie) fFafafad & 9 fea 32 & uran war 4r?

1. France / IE
2. Australia / 3T TorT

3. England / 37¢i3
4. Germany / ST&eil

Correct Answer :-

. England/ &3cl8

50) The learning strategy that helps the leaner to gain from each other’s effort is: / ST

Yo Y Rreneff #t tew gk & 7A@ a1 U B | e el o
1. Brain storming / m (ST Hﬁﬁﬂ)

2. Case study / g 7¢I

3. Experiential learning / 9Ta1{3Teh 31farar

4. Cooperative learning / T&a191 3TAITH

Correct Answer :-

« Cooperative learning / Tgdroft 37TQITH

51) What is the upper limit of the Richter scale? / Raez TUR &} Hudt Hfar 1 32



1.9

2. 10
3. No Upper limit/Eﬁé U e A9 §

4.8

Correct Answer :-

« No Upper limit / PI$ FUI HAT el &

52) The process of collecting data on student performance that is used to
evaluate the attainment of certain expectation, objectives or outcomes is known
as: /

BT F UG W ST ThT H1 D1 9 Ufehar RrIsT SualT o 3rder, Ig=al a1 ufumal
) I & qeaic ¥ e fsar oirar 8, 98 Seardt &

1. Evaluating / EFJ\FQTI?JF[

2. Assessment / 3TTehelel
3. Scoring / Y'Y SECR]
4. Rating / qrgar Ay

Correct Answer :-

 Assessment / 3Teholel

53) The Woods dispatch of 1854 is related to which of the following? / 1854 T qs &l BILMIEES
(F3@ fFeta) fmafafea & & fraw wafta 82

1. Introduction of Railways / YeTd &l URFH
2. Introduction of English Education in India / #Rd & 37l fA& &1 uRFH
3. Introduction of the Postal Services / 3Tch HaTHT &I TRFH

4. Setting up of Universities in India / ARd # Toafaarerar T Tamgar

Correct Answer :-

« Setting up of Universities in India / AR H Taafaarerar dr Tamgar

54) IPCC is a body to examine climate change. What is the full-form of IPCC? / 3mSdiid
Seary aRade #r ST FA & v o @ g1 Sl w1 oqob v = @2



1. Intergovernmental panel on climate change / 3 cWTdde Uadl 3T Fasde ool

2. International Panel on Climate change / c{aQldel U 3T FaSHT ol

3. International platform for climate change study / ScIaAlTol TIThid B FellsHC dol Feal
4. Inter-panel on climate change / se-Uaa AT FABACT ol

Correct Answer :-

« Intergovernmental panel on climate change / Wﬁ'«ﬁ?ﬂ e 3 FolsHT ol
55) Who named the Gulf Stream? / 6% TIH &I ATH Faa 1@1?

1. Benjamin Franklin / SSTfaer Sheapfora

2. Juan Ponce de Leon / S[31TeT uig 31 o

3. Columbus / PreIad

4. Thomas cook / THI b

Correct Answer :-

« Benjamin Franklin / daottde hepfore

56) Which of the following causes Normal Faults? / fAFfeif@d & & Fa+ RO aHT
Biee (H2) Bd 82

1. Compressional force / HUI5<T ol

2. Vertical Movement / H%aT¢R Tt

3. Horizontal Displacement / &fcrsT faeamae
4, Tensional force / dATd-doT

Correct Answer :-

« Tensional force / dATd-dol

57) Which of the following is an example of renewable energy? / fAFfaf@d & & =l &1
HTT FAT (AAHIONT FAT) FT Th ISEI0T 872

1. Petroleum / USIfordal
2. Coal / &IIell



3. Natural Gas / CI'I?fﬁ?ﬁ Elps)

4. Solar Energy / IR e

Correct Answer :-

« Solar Energy / Rk Far

58) Almost all of Iron Ore Production of India is confined to which among the following five
states of India? /

HRT & 9T F g 3aFF 3cuee Arafaf@d # ¥ 9RT ¥ FiT ¥ o Ut g afag €

1. Odisha, Karnataka, Chhattisgarh, West Bengal and Uttar Pradesh / 3if22m, watesd, oiaere, affer
aer 3R 3T Uger

2. Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 30f32m, &aTea, axierg, Mar 3R ARES

3. Odisha, Karnataka, Chhattisgarh, Madhya Pradesh & Jharkhand / 301f32m, e, ST, ACAUC
3R FIREs

4. Odisha, Madhya Pradesh, Chhattisgarh, Andhra Pradesh and Tamil Nadu / 3032, #3EI0Eer, SO9TE,
3y weer 3R afdreErg

Correct Answer :-

« Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 31if32I, e, SradTe, ar iR sREs

59) What is the name of the world’s first Greenhouse Gases Observing Satellite launched by

Japan in 2009? / 2009 F SIS gaRT IRFH U 70 faeg & gga daeEw 9 saesa
3YAE FT ATH 4T g7

1. Tadami / dTGTHT

2. Akatsuki / 3TeTcgeht
3. Ibuki / ST

4. Hayabusa / @rATdAT

Correct Answer :-

60) Which among the following bodies received Nobel prize for peace for their efforts to build
up and disseminate greater knowledge about man-made climate change, and to lay the
foundations for the measures that are needed to counteract such change? / R@a s @



frw e & Ae AT Seay oRads & TR & e F fe @ F @wor sk

TR F AT F @A, 3k 59 g & Rada 1 9fasR = & Qv 3maegs gt i
dig W@ & fAT aer oaifd R gred fFar?

1. IPCC

2. UNEP

3. UNDP

4, UNFCCC

Correct Answer :-

« [IPCC



